MATH1040 Practice questions 2

1. Answer each of the following questions, showing all working.

(a) Write

(b) Expand and simplify

(c) Find z if
(d) Find z if
(e) Solve

(f) Let y =2. Find « if

(g) Find z if
(h) Find z if

(i) Find z if
(j) Find « if

(k) Find z if

V180  in simplest form.
(V6 + v8)(vV4 - V6).
V45 =zv/5
Viz = 2v10
| =5z +4 |= 4.
y =3x + 5.
5x + 6 = 6.
4x
?—&-9:8.
SIS
—3z
0 -1
TTat
0 -4
T=oT

2. Answer each of the following questions, showing all working.

(a) Write

(c) Find z if
(d) Find z if
(e) Solve

(g) Find z if
(h) Find z if
(i) Find x if
(j) Find « if

(k) Find z if

V45
(b) Expand and simplify

in simplest form.
(VZ+VA(V3 - V2)
V80 = zv/5

V8r =43

| =22+ 5 |=3.
(f) Let y = —3. Find =z if

y =3z 4+ 3.
20 +6 = 3.

3. Answer each of the following questions, showing all working.

(a) Write

(¢) Find z if
(d) Find z if
(e) Solve

(g) Find z if
(h) Find z if
(i) Find z if
(j) Find « if

(k) Find z if

V48
(b) Expand and simplify

in simplest form.
(V2+v2)(V8 = V3).
V96 = /6

V24z = 4/3

| =3z 4+ 5|=3.
(f) Let y = 3. Find «x if

y =bx —4.
2z +4=5.

—X
— —9=5.
—4

4. Answer each of the following questions, showing all working.



(a) Write

(c) Find z if
(d) Find z if
(e) Solve

(f) Let y = —1. Find =z if

(g) Find z if
(h) Find z if

(i) Find z if
(j) Find « if

(k) Find z if

V120

(b) Expand and simplify

in simplest form.

(V3+v2)(vV2 - V6).

V125 = 2v/5
V2T = 4v3
| -4z +5 |= 3.
y =3z +0.
S5 +6 = 3.
2z
_—2—9:—7.
3
_—2x—1:—2.
S e
2 -2
)
-5 -4

5. Answer each of the following questions, showing all working.

(a) Write

(¢) Find z if
(d) Find z if
(e) Solve

(g) Find z if
(h) Find z if
(i) Find z if
(j) Find « if

(k) Find z if

VT2
(b) Expand and simplify

in simplest form.

(V4 +V3) (V4 —6).
V32 =12

V3z =2V6

| =4z +5|=1.
(f) Let y = —2. Find = if

y = 4x + 4.
3z +5=3.

= _9=-10.
-3

2

-3z

6= —2.



